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U8 CWK #3 More Operations in Scientific Notation

° 1. Will the- method for multiplying and dividing numbers in scientific notation work for adding and
subtracting numbers in scientific notation?

2. Rewrite 5,000,000 and 2,000,000 in scientific notation.

5,000,000 =
2,000,000 = g

3. Test the method you learned above to see if it works for subtraction. First subtract 2,000,000 from
5,000,000. Then change the numbers to scientific notation and subtract them using the method above to
see if you get the same answer.

4. Write in your own words how to add or subtract numbers in scientific notation that have the same
exponent or order of magnitude.

5. Find each sum or difference. Write your answer in scientific notation.

a. (3.45x1Q3)+(6.11x103) b. (s.9ex10’)-(3.41x107) c. (6.43x10°)+(4.39x10°)
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d. (1.23x10")+(8.04x10'4) e. (4.5><10”)-(3.2x10“) f, (6.1x10‘“)—(3.2x10-“)
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T ﬁ 01x(9-2)=(,01x9)-(.01%P)

O1x(g+0)=( ,01%9)+(,01x2)
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